Opérations avec deux fractions (A)

Nom: Date: Note:

Calculez chaque résultat.

1 1+8— =
23 N
Solve Convert |
29.'.2— — — —
7 7 N
, 13—
2712 -
, i
4 8 N
O
18" 8 N
68+22_ 3
39 N
714 7 3
33 N
. W. 3 _ _ - _ - _
3 "2 B B
91)(11_
473
27 11
7 7
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Opérations avec deux fractions (A) Réponses

Nom:

Date:

Calculez chaque résultat.
1 8 19 _31
2 3 6
6 10 16 2
-4 — = — = 22—
7 7 7 7
130 _ 3t 7
27712 24 T 24
n_1_ o2 _ s
4 8 8 78
65 1o _ 1235 _ 83
18 8 = 144 144
8+22_ 46 _
39 9
1“7 _ 7 _ L1
3 3 3 73
.3 _10.2_ 20 _2
3 2 373 9
run_ou
473 12
7_1_ 16 _ 2
7 7 7 77

Note:

MathsLibres.com




